

Θέμα 25

A.
$$\left. \begin{aligned} g(0) &= f(1) - 1 \\ g(-1) &= f(1) - 1 \end{aligned} \right\} \Rightarrow g(0) = g(-1) \text{ όπως } 0 \neq -1 \text{ Άρα } g \text{ έχει } \perp \perp, \text{ άρα } \Sigma \text{ αν αυτίζεται } \perp \perp$$

B₁. g παραγωγίσιμη ως πράξεις παραγωγισίμων

$$g'(x) = f'(x^2+x+1) \cdot (x^2+x+1)' \Rightarrow g'(x) = f'(x^2+x+1) \cdot (2x+1)$$

$$g'(0) = f'(1) \cdot 1 \Rightarrow g'(0) = 1$$

B₂.
$$L = \lim_{x \rightarrow 0} \frac{f(x^2+x+1) - f(1)}{x} \qquad g(x) = f(x^2+x+1) - 1 \Leftrightarrow f(x^2+x+1) = g(x) + 1$$

$$f(1) = g(0) + 1$$

$$= \lim_{x \rightarrow 0} \frac{g(x) + 1 - g(0) - 1}{x} = \lim_{x \rightarrow 0} \frac{g(x) - g(0)}{x} = g'(0) = 1$$

Γ. Ε_f: $y - f(1) = f'(1)(x-1) \Rightarrow y = x-1 + f(1) \Rightarrow y = x-1 + g(0) + 1 \Rightarrow y = x + g(0)$
 Ε_g: $y - g(0) = f'(0)(x-0) \Rightarrow y = x + g(0)$

Δ₁. Έστω $f \searrow$ τότε $x < 1 \Leftrightarrow f(x) > f(1) \Leftrightarrow f(x) - f(1) > 0 \Leftrightarrow \frac{f(x) - f(1)}{x-1} < 0$

$$\lim_{x \rightarrow 1^-} \frac{f(x) - f(1)}{x-1} < 0 \text{ Άρα } \text{αφού } f'(1) = 1 > 0$$

Άρα $f \nearrow$

Δ₂.
$$g'(x) = f'(x^2+x+1) \cdot (2x+1)$$

$$f' > 0$$

x	$-\infty$	$-1/2$	$+\infty$
g'		$-$	$+$
g	\searrow	$ $	\nearrow